Math 240 - Quiz 6 Name keg
October 28, 2021 Score

Show all work to receive full credit. Supply explanatlons when necessary. This quiz is due
November 4.

1. (4 points) Find the first eight nonzero terms of the power series solution centered at
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2. (1 point) Based on the pattern in your solution above write the power series solution
as an infinite sum in summation notatlon
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3. (4 points) Find the first eight nonzero terms of the power series solution centered at
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4. (1 point) Based on the pattern in your solution above, erte the ‘power series solutl
as an infinite sum 1 in surnmatlon notatlon ;
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